



The Minimal Norm Least Squares Solutions for a Class of Matrix Equations

Jinrong Shen*

College of Mathematics, Changsha University, Changsha 410003, China.

Abstract

In this paper, the minimal norm least squares solution of matrix equations $(AXC, BXD, AXD, BXC) = (E, F, G, H)$ is discussed, by using the projection theorem, the generalized singular value decomposition and the canonical correlation decomposition, the expression of the solution of this problem is obtained.

Keywords: Minium-norm least-square solution; the Generalized Singular Value Decomposition; the Canonical Correlation Decomposition; the Projection Theorem

1. The introduction

Linear matrix equation problems have important applications in biology, electricity, photon spectroscopy, vibration theory, finite element, structural design, parameter identification, automatic control theory, linear optimal control and many other fields. The solution of linear matrix equations has become one of the hot research topics in the field of computational mathematics. The literature [1] gives the least squares solution of the matrix equations, but because the form of the solution does not satisfy the orthogonal invariance of the norm, it can't directly solve the minimal norm solution. This paper successfully solves the problem

* Corresponding author:

Email address: ccsusjr@163.com (Jinrong Shen)

Research Supported by the Scientific Research of Hunan Provincial Education Department ,(Grant No. 20C0178)

through the projection theorem.

Throughout the paper, we denote the set of all real $m \times n$ matrices by $R^{m \times n}$, the set of all real orthogonal matrices by $OR^{n \times n}$, the identity matrix of order n by I_n , the i th column of the identity matrix of order n by e_i , the identity matrix of order n by S_n , here $S_n = \{e_n, e_{n-1}, \dots, e_1\}$, the transpose of the matrix by A^T , the Frobenius norm of a matrix by $\|\cdot\|$.

Generalized Singular Value Decomposition (GSVD)^[2] Let $A_1 \in R^{m \times (n-k)}$, $A_2 \in R^{m \times k}$, $B_1 \in R^{p \times (n-k)}$, $B_2 \in R^{p \times k}$,

Then, the GSVD of matrix pair (A_1, A_2) , $\begin{pmatrix} B_1^T \\ B_2^T \end{pmatrix}$ respectively are

$$A_1 = M \Sigma_{A_1} U^T, A_2 = M \Sigma_{A_2} V^T; B_1^T = P \Sigma_{B_1} N, B_2^T = Q \Sigma_{B_2} N, \quad (1)$$

where, $M \in R^{m \times m}$, $N \in R^{p \times p}$ both are invertible matrices, $U \in OR^{(n-k) \times (n-k)}$, $V \in OR^{k \times k}$, $P \in OR^{(n-k) \times (n-k)}$, $Q \in OR^{k \times k}$ are all orthogonal square matrices, and

$$\Sigma_{A_1} = \begin{pmatrix} I_{A_1} & 0 & 0 \\ 0 & S_{A_1} & 0 \\ 0 & 0 & 0_{A_1} \\ 0 & 0 & 0 \end{pmatrix} \begin{matrix} r \\ s \\ k \\ m \end{matrix} \begin{matrix} -r \\ -s \\ -k \\ -k \end{matrix}, \quad \Sigma_{A_2} = \begin{pmatrix} 0_{A_2} & 0 & 0 \\ 0 & S_{A_2} & 0 \\ 0 & 0 & I_{A_2} \\ 0 & 0 & 0 \end{pmatrix} \begin{matrix} r \\ s \\ k \\ m \end{matrix} \begin{matrix} -r \\ -s \\ -k \\ -k \end{matrix},$$

$$\Sigma_{B_1} = \begin{pmatrix} I_{B_1} & 0 & 0 & 0 \\ 0 & S_{B_1} & 0 & 0 \\ 0 & 0 & 0_{B_1} & 0 \\ 0 & 0 & 0_{B_1} & 0 \end{pmatrix}, \quad \Sigma_{B_2} = \begin{pmatrix} 0_{B_2} & 0 & 0 & 0 \\ 0 & S_{B_2} & 0 & 0 \\ 0 & 0 & I_{B_2} & 0 \\ 0 & 0 & 0_{B_2} & 0 \end{pmatrix}$$

$\begin{matrix} r' & s' & k' & r'-s' \\ & & p-k' & \end{matrix}$ $\begin{matrix} r' & s' & k' & r'-s' \\ & & p-k' & \end{matrix}$

where $I_{A_1}, I_{A_2}, I_{B_1}, I_{B_2}$ are the identity matrices of appropriate order, $o_{A_1}, o_{A_2}, o_{B_1}, o_{B_2}$ are the zero matrices of appropriate order (may not be square matrix). where

$$S_{A_1} = \text{diag}(\alpha_1, \alpha_2, \dots, \alpha_s), \quad 1 > \alpha_1 \geq \alpha_2 \geq \dots \geq \alpha_s > 0; \quad S_{A_2} = \text{diag}(\beta_1, \beta_2, \dots, \beta_s), \quad 0 < \beta_1 \leq \beta_2 \leq \dots \leq \beta_s < 1;$$

$$S_{B_1} = \text{diag}(\alpha'_1, \alpha'_2, \dots, \alpha'_s), \quad 1 > \alpha'_1 \geq \alpha'_2 \geq \dots \geq \alpha'_s > 0; \quad S_{B_2} = \text{diag}(\beta'_1, \beta'_2, \dots, \beta'_s), \quad 0 < \beta'_1 \leq \beta'_2 \leq \dots \leq \beta'_s < 1;$$

$$S_{A_1}^2 + S_{A_2}^2 = I_s, \quad S_{B_1}^2 + S_{B_2}^2 = I_s, \quad k = \text{rank}[A_1, A_2], \quad r = k - \text{rank}(A_2), \quad s = \text{rank}(A_1) + \text{rank}(A_2) - k,$$

$$k' = \text{rank}[B_1, B_2], \quad r' = k' - \text{rank}(B_2^T), \quad s' = \text{rank}(B_1) + \text{rank}(B_2) - k'.$$

Canonical Correlation Decomposition (CCD)^{[3][4]} Let $A_1 \in R^{m \times (n-k)}$, $A_2 \in R^{m \times k}$, $B_1 \in R^{p \times (n-k)}$, $B_2 \in R^{p \times k}$, and

$$\text{rank}(A_1) \geq \text{rank}(A_2),$$

$\text{rank}(B_1) \geq \text{rank}(B_2)$, Then, the CCD of matrix pair $(A_1, A_2), (B_1, B_2)$ respectively are

$$A_1 = P_1(\bar{\Sigma}_{A_1}, 0)E_{A_1}^{-1}, \quad A_2 = P_1(\bar{\Sigma}_{A_2}, 0)E_{A_2}^{-1}; \quad B_1 = Q_1(\bar{\Sigma}_{B_1}, 0)E_{B_1}^{-1}, \quad B_2 = Q_1(\bar{\Sigma}_{B_2}, 0)E_{B_2}^{-1} \quad (2)$$

where $P_1 \in OR^{m \times m}$, $Q_1 \in OR^{p \times p}$, $E_{A_1} \in R^{(n-k) \times (n-k)}$, $E_{A_2} \in R^{k \times k}$, $E_{B_1} \in R^{(n-k) \times (n-k)}$, $E_{B_2} \in R^{k \times k}$,

* Corresponding author:

$$\bar{\Sigma}_{A_1} = \begin{pmatrix} I_{r_1} & 0 & 0 \\ 0 & C_{A_1} & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & D_{A_1} & 0 \\ 0 & 0 & I_{f_1} \end{pmatrix}, \quad \bar{\Sigma}_{A_2} = \begin{pmatrix} I_{r_1} & 0 & 0 \\ 0 & I_{s_1} & 0 \\ 0 & 0 & I_{h_1-r_1-s_1} \\ 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}, \quad \bar{\Sigma}_{B_1} = \begin{pmatrix} I_{r_2} & 0 & 0 \\ 0 & C_{B_1} & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & D_{B_1} & 0 \\ 0 & 0 & I_{f_2} \end{pmatrix}, \quad \bar{\Sigma}_{B_2} = \begin{pmatrix} I_{r_2} & 0 & 0 \\ 0 & I_{s_2} & 0 \\ 0 & 0 & I_{h_2-r_2-s_2} \\ 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$$

$$C_{A_1} = \text{diag}(\lambda_1, \lambda_2, \dots, \lambda_{s_1}) > 0, \quad 1 > \lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_{s_1} > 0$$

$$D_{A_1} = \text{diag}(\mu_1, \mu_2, \dots, \mu_{s_1}) > 0, \quad 0 < \mu_1 \leq \mu_2 \leq \dots \leq \mu_{s_1} < 1, \quad \lambda_i^2 + \mu_i^2 = 1, \quad i=1,2,\dots,s_1;$$

$$C_{B_1} = \text{diag}(\lambda'_1, \lambda'_2, \dots, \lambda'_{s_2}) > 0, \quad 1 > \lambda'_1 \geq \lambda'_2 \geq \dots \geq \lambda'_{s_2} > 0$$

$$D_{B_1} = \text{diag}(\mu'_1, \mu'_2, \dots, \mu'_{s_2}) > 0, \quad 0 < \mu'_1 \leq \mu'_2 \leq \dots \leq \mu'_{s_2} < 1, \quad \lambda_j'^2 + \mu_j'^2 = 1, \quad j=1,2,\dots,s_2;$$

$$g_1 = \text{rank}(A_1) = r_1 + s_1 + f_1, \quad s_1 = \text{rank}(A_1, A_2) + \text{rank}(A_2 A_1^T) - \text{rank}(A_1) - \text{rank}(A_2),$$

$$h_1 = \text{rank}(A_2), \quad r_1 = \text{rank}(A_1) + \text{rank}(A_2) - \text{rank}(A_1, A_2),$$

$$g_2 = \text{rank}(B_1) = r_2 + s_2 + f_2, \quad s_2 = \text{rank}(B_1, B_2) + \text{rank}(B_2^T B_1) - \text{rank}(B_1) - \text{rank}(B_2),$$

$$h_2 = \text{rank}(B_2), \quad r_2 = \text{rank}(B_1) + \text{rank}(B_2) - \text{rank}(B_1, B_2).$$

Problem I Given $A \in R^{m \times p}$, $B \in R^{n \times p}$, $C \in R^{p \times q}$, $D \in R^{p \times l}$, $E \in R^{m \times q}$, $F \in R^{n \times l}$, $G \in R^{m \times l}$, $H \in R^{n \times q}$, let

$$S_E = \{X \mid X \in R^{p \times p}, \|(AXC, BXD, AXD, BXC) - (E, F, G, H)\| = \min\},$$

$$\text{find } \hat{X} \in S_E, \text{ such that } \|\hat{X}\| = \min_{X \in S_E} \|X\|.$$

2. The Solution of Optimal Approximation Problem

Lemma 1^[1] Let $A \in R^{m \times p}$, $B \in R^{n \times p}$, $C \in R^{p \times q}$, $D \in R^{p \times l}$, $E \in R^{m \times q}$, $F \in R^{n \times l}$, $G \in R^{m \times l}$, $H \in R^{n \times q}$, the GSVD of matrix pair $\begin{pmatrix} A \\ B \end{pmatrix}, (C, D)$ are the corresponding form of equation (1). Let

$$U^T E P = (E_{ij})_{3 \times 3}, \quad V^T F Q = (F_{ij})_{3 \times 3}, \quad U^T G Q = (G_{ij})_{3 \times 3}, \quad V^T H P = (H_{ij})_{3 \times 3}, \quad (3)$$

then, the least squares solution of $\|(AXC, BXD, AXD, BXC) - (E, F, G, H)\| = \min$ is

$$X = N^{-1} \begin{pmatrix} E_{11} & E_{12} S_C + G_{12} S_D & G_{13} & X_{14} \\ S_A^{-1} E_{21} & [X_{22}] & S_B F_{23} + S_A G_{23} & X_{24} \\ X_{31} & F_{32} S_D^{-1} + H_{32} S_C & F_{33} & X_{34} \\ X_{41} & X_{42} & X_{43} & X_{44} \end{pmatrix} M^{-1}, \quad (4)$$

where $[X_{22}] = R * (S_A E_{22} S_C + S_B F_{22} S_D + S_A G_{22} S_D + S_E H_{22} S_C)$, $R = (\gamma_{ij})$, $\gamma_{ij} = \frac{1}{\alpha_i^2 \alpha_j'^2 + \beta_i^2 \beta_j'^2 + \alpha_i^2 \beta_j'^2 + \alpha_j'^2 \beta_i^2} = 1 \quad 1 \leq i \leq s, 1 \leq j \leq s'$.

* Corresponding author:

Email address: ccsujr@163.com (Jinrong Shen)

Research Supported by the Scientific Research of Hunan Provincial Education Department ,(Grant No. 20C0178)

Lemma 2^[5] (Projection Theorem) Let X is the finite dimensional inner product space, M is the subspace of the inner product X , for a given $x \in X$, if exists $m_0 \in M$, such that $\|x - m_0\| \leq \min\|x - m\|, \forall m \in M$, then m_0 is unique, and m_0 is the unique minimum vector of M if and only if $x - m_0 \perp M$.

Lemma 3 Let $A \in R^{m \times p}, B \in R^{n \times p}, C \in R^{p \times q}, D \in R^{p \times l}, E \in R^{m \times q}, F \in R^{n \times l}, G \in R^{m \times l}, H \in R^{n \times q}, X_0$ is The least squares solution of matrix equations

$$(AXC, BXD, AXD, BXC) = (E, F, G, H), \quad (5)$$

let

$$AX_0C = E_0, BX_0D = F_0, AX_0D = G_0, BX_0C = H_0 \quad (6)$$

then the least squares solution set of compatible matrix equations

$$(AXC, BXD, AXD, BXC) = (E_0, F_0, G_0, H_0), \quad (7)$$

Is the same as matrix equations (5).

Lemma 4^[6] Let $J_1, J_2, J_3, J_4 \in R^{m \times n}, S_a = \text{diag}(a_1, a_2, \dots, a_m) > 0; S_b = \text{diag}(b_1, b_2, \dots, b_n) > 0;$

$$S_c = \text{diag}(c_1, c_2, \dots, c_m) \geq 0; S_e = \text{diag}(e_1, e_2, \dots, e_m) \geq 0; S_f = \text{diag}(f_1, f_2, \dots, f_n) \geq 0;$$

$$S_g = \text{diag}(g_1, g_2, \dots, g_m) \geq 0; S_h = \text{diag}(h_1, h_2, \dots, h_n) \geq 0.$$

So there is a unique $S \in R^{m \times n}$ that makes

$$\Phi = \|S_a S S_b - J_1\|^2 + \|S_c S S_d - J_2\|^2 + \|S_e S S_f - J_3\|^2 + \|S_g S S_h - J_4\|^2 = \min.$$

And it has an expression

$$S = P * (S_a J_1 S_b + S_c J_2 S_d + S_e J_3 S_f + S_g J_4 S_h), P = (p_{ij}) \in R^{m \times m}, p_{ij} = \frac{1}{a_i^2 b_j^2 + c_i^2 d_j^2 + e_i^2 f_j^2 + g_i^2 h_j^2}, 1 \leq i \leq m, 1 \leq j \leq n.$$

Note. Lemma 4 is a corollary of Lemma 2.1 in reference [2], in which $S_i (i = a, b, c, d, e, f, h)$ Can be zero diagonal matrix or identity matrix.

Theorem 1 Let $A \in R^{m \times p}, B \in R^{n \times p}, C \in R^{p \times q}, D \in R^{p \times l}, E \in R^{m \times q}, F \in R^{n \times l}, G \in R^{m \times l}, H \in R^{n \times q}$, and the CCD of matrix pair $(A^T, B^T), (C, D)$ are the corresponding form of equation (2). Let

$$E_A^T E E_C = (\bar{E}_{ij})_{4 \times 4}, E_B^T F E_D = (\bar{E}_{ij})_{4 \times 4}, E_A^T G E_D = (\bar{G}_{ij})_{4 \times 4}, E_B^T H E_C = (\bar{H}_{ij})_{4 \times 4}, P^T X Q = (X_{ij})_{6 \times 6} \quad (8)$$

$$E_A = \begin{pmatrix} A_1 & A_2 & A_3 & A_4 \\ r_1 & s_1 & f_1 & m-g_1 \end{pmatrix}, E_B = \begin{pmatrix} B_1 & B_2 & B_3 & B_4 \\ r_2 & s_2 & h_1-r_1-s_1-n-h_1 \end{pmatrix}, E_C = \begin{pmatrix} C_1 & C_2 & C_3 & C_4 \\ r_2 & s_2 & f_2 & l-g_2 \end{pmatrix}, E_D = \begin{pmatrix} D_1 & D_2 & D_3 & D_4 \\ r_2 & s_2 & h_2-r_2-s_2 & l-h_2 \end{pmatrix}$$

* Corresponding author:

135

Email address: ccsujr@163.com (Jinrong Shen)

Research Supported by the Scientific Research of Hunan Provincial Education Department ,(Grant No. 20C0178)

here $\bar{E}_{ij} = A_i^T E C_j$, $\bar{F}_{ij} = B_i^T F D_j$, $\bar{G}_{ij} = A_i^T G D_j$, $\bar{H}_{ij} = B_i^T H C_j$, $i, j = 1, 2, 3, 4$, then the sufficient and necessary conditions for matrix equations (5) to have a compatible solution set are

$$\begin{aligned} &\bar{E}_{i4} = 0, \bar{E}_{4i} = 0, \bar{F}_{i4} = 0, \bar{F}_{4i} = 0, \bar{G}_{i4} = 0, \bar{G}_{4i} = 0, \bar{H}_{i4} = 0, \bar{H}_{4i} = 0, i = 1, 2, 3, 4; \\ &\bar{E}_{11} = \bar{F}_{11} = \bar{G}_{11} = \bar{H}_{11}, \bar{F}_{12} = \bar{G}_{12}, \bar{F}_{13} = \bar{G}_{13}, \bar{E}_{21} = \bar{G}_{21}, \bar{F}_{21} = \bar{H}_{21}, \bar{E}_{31} = \bar{G}_{31}, \bar{F}_{31} = \bar{H}_{31}, \bar{E}_{13} = \bar{H}_{13}. \end{aligned} \quad (9)$$

And the general solution of X is

$$\mathbf{X} = P \begin{pmatrix} \bar{E}_{11} & \bar{F}_{12} & \bar{F}_{13} & X_{14} & \bar{X}_{15} & \bar{E}_{13} \\ \bar{F}_{21} & \bar{F}_{22} & \bar{F}_{23} & X_{24} & \bar{X}_{25} & H_{23} \\ \bar{F}_{31} & \bar{F}_{32} & \bar{F}_{33} & X_{34} & \bar{X}_{35} & H_{33} \\ X_{41} & X_{42} & X_{43} & X_{44} & X_{45} & X_{46} \\ \bar{X}_{51} & \bar{X}_{52} & \bar{X}_{53} & X_{54} & \bar{X}_{55} & \bar{X}_{56} \\ \bar{E}_{31} & \bar{G}_{32} & \bar{G}_{33} & X_{64} & \bar{X}_{65} & \bar{E}_{33} \end{pmatrix} Q^T, \quad (10)$$

where $\bar{X}_{15} = (\bar{E}_{12} - \bar{F}_{12} C_C) D_C^{-1}$, $\bar{X}_{25} = (\bar{H}_{22} - \bar{F}_{22} C_C) D_C^{-1}$, $\bar{X}_{35} = (\bar{H}_{32} - \bar{F}_{32} C_C) D_C^{-1}$, $\bar{X}_{51} = D_A^{-1} (\bar{E}_{21} - C_A \bar{F}_{21})$, $\bar{X}_{52} = D_A^{-1} (\bar{G}_{22} - C_A \bar{F}_{22})$, $\bar{X}_{53} = D_A^{-1} (\bar{G}_{23} - C_A \bar{F}_{23})$, $\bar{X}_{55} = D_A^{-1} (\bar{E}_{22} - \bar{G}_{22} C_C - C_A H_{22} + C_A F_{22} C_C) D_C^{-1}$, $\bar{X}_{56} = D_A^{-1} (\bar{E}_{23} - C_A H_{23})$, $\bar{X}_{65} = (\bar{E}_{32} - \bar{G}_{32} C_C) D_C^{-1}$ and X_{i4}, X_{4i} ($i = 1, 2, \dots, 6$) is any matrix with appropriate size.

Theorem 2 Let $A \in R^{m \times p}$, $B \in R^{n \times p}$, $C \in R^{p \times q}$, $D \in R^{p \times l}$, $E \in R^{m \times q}$, $F \in R^{n \times l}$, $G \in R^{m \times l}$, $H \in R^{n \times q}$, the GSVD of matrix pair $\begin{pmatrix} A \\ B \end{pmatrix}$, (C, D) are the corresponding form of equation (1), block matrices E_{ij} , F_{ij} , G_{ij} , H_{ij} ($i, j = 1, 2, 3, 4$) are given by equation (8), the free block matrices X_{i4}, X_{4i} ($i = 1, 2, 3, 4$) in Equation (10) are all zero block matrices, denoted X as X_0 , Let X_0 be a least squares solution of the matrix equations (5), let $E_0 = AX_0 C$, $F_0 = BX_0 D$, $G_0 = AX_0 D$, $H_0 = BX_0 C$, then E_0, F_0, G_0, H_0 can be expressed as

$$\begin{aligned} E_0 &= U \begin{pmatrix} E_{11} & E_{12} S_C^2 + G_{12} S_D S_C & 0 \\ S_A^2 E_{21} + S_A S_B H_{21} & S_A [X_{22}] S_C & 0 \\ 0 & 0 & 0 \end{pmatrix} P^T, \quad F_0 = V^T \begin{pmatrix} 0 & 0 & 0 \\ 0 & S_B [X_{22}] S_D & S_B^2 F_{23} + S_B S_A G_{23} \\ 0 & F_{32} S_D^2 + H_{32} S_C S_D & F_{33} \end{pmatrix} Q, \\ G_0 &= U \begin{pmatrix} 0 & E_{12} S_C S_D + G_{12} S_D^2 & G_{13} \\ 0 & S_A [X_{22}] S_D & S_A S_B F_{23} + S_A^2 G_{23} \\ 0 & 0 & 0 \end{pmatrix} Q^T, \quad H_0 = V \begin{pmatrix} 0 & 0 & 0 \\ S_B S_A E_{21} + S_B^2 H_{21} & S_B [X_{22}] S_C & 0 \\ H_{31} & F_{32} S_D S_C + H_{32} S_C^2 & 0 \end{pmatrix} P^T. \end{aligned}$$

Theorem 3 Let $A \in R^{m \times p}$, $B \in R^{n \times p}$, $C \in R^{p \times q}$, $D \in R^{p \times l}$, $E \in R^{m \times q}$, $F \in R^{n \times l}$, $G \in R^{m \times l}$, $H \in R^{n \times q}$, E_0, F_0, G_0, H_0 are given by theorem 2, let

$$E_A^T E_0 E_C = (\bar{E}_{ij})_{4 \times 4}, E_B^T F_0 E_D = (\bar{F}_{ij})_{4 \times 4}, E_A^T G_0 E_D = (\bar{G}_{ij})_{4 \times 4}, \quad (11)$$

Then, the matrix equations (5) have a unique minimal norm least square solution \hat{X} as

* Corresponding author:

Email address: ccsujr@163.com (Jinrong Shen)

Research Supported by the Scientific Research of Hunan Provincial Education Department, (Grant No. 20C0178)

$$\hat{X} = P \begin{pmatrix} \tilde{E}_{11} & \tilde{F}_{12} & \tilde{F}_{13} & 0 & \hat{X}_{15} & \tilde{E}_{13} \\ \tilde{F}_{21} & \tilde{F}_{22} & \tilde{F}_{23} & 0 & \hat{X}_{25} & \tilde{H}_{23} \\ \tilde{F}_{31} & \tilde{F}_{32} & \tilde{F}_{33} & 0 & \hat{X}_{35} & \tilde{H}_{33} \\ 0 & 0 & 0 & 0 & 0 & 0 \\ \hat{X}_{51} & \hat{X}_{52} & \hat{X}_{53} & 0 & \hat{X}_{55} & \hat{X}_{56} \\ \tilde{E}_{31} & \tilde{G}_{32} & \tilde{G}_{33} & 0 & \hat{X}_{65} & \tilde{E}_{34} \end{pmatrix} Q^T, \quad (12)$$

where $\hat{X}_{15} = D_A^{-1}(\tilde{H}_{22} - \tilde{F}_{22}C_C)D_C^{-1}$, $\hat{X}_{25} = (\tilde{H}_{21} - \tilde{F}_{22}C_C)D_C^{-1}$, $\hat{X}_{35} = (\tilde{H}_{32} - \tilde{F}_{32}C_C)D_C^{-1}$, $\hat{X}_{51} = D_A^{-1}(\tilde{E}_{21} - C_A\tilde{F}_{21})$

$\hat{X}_{52} = D_A^{-1}(\tilde{G}_{22} - C_A\tilde{F}_{22})$, $\hat{X}_{53} = D_A^{-1}(\tilde{G}_{23} - C_A\tilde{F}_{23})$, $\hat{X}_{55} = D_A^{-1}(\tilde{E}_{22} - \tilde{G}_{22}C_C - C_A\tilde{F}_{22}C_C)D_C^{-1}$, $\hat{X}_{56} = D_A^{-1}(\tilde{E}_{23} - C_A\tilde{H}_{23})$,

$\hat{X}_{65} = (\tilde{E}_{32} - \tilde{G}_{32}C_C)D_C^{-1}$.

Proof. By theorem 1, let x_1 as any solution of the compatible matrix equations(7), then x_1 can be expressed as (10) in the form of Theorem 1, so $x_{14} = 0, x_{4i} = 0$ ($i=1,2,\dots,6$) by $\|x_1\|^2 = \min$, substitute the results into the formula x_1 respectively, and let x_1 be \hat{x} , by Lemma 2, \hat{x} is the minimal norm least squares solution of the matrix equations $(AXC, BXD, AXD, BXC) = (E, F, G, H)$, that is, the solution \hat{x} of problem I is Equation (12).

References

- [1] Chen X T. Common solutions of a class of matrix equations. Numerical Mathematics A Journal of Chinese. 2005, 27(2):133-148.
- [2] X.Yuan. On the two class of best approximation problems. Math.Numerica Sinica. 2001, 23:429-436.
- [3] H.Golub, C.F.Van Loan. Matrix Computations. The Johns Hopkins Univ Press, Baltimore, MD, 1997.
- [4] G.W.Setward, J.G.Sun. Matrix Perturbation Theory. Academic Press, New York,1990. 1998, 279:93-109.
- [5] R.S.Wang. Functional Analysis and Optimization Theory. Beijing University of Aeronautics & Astronautics Press ,Beijing, 2003.
- [6] Golub G H, Vanloan C F. Matrix Computation. Baltimore: Johns Hopkins University Press, 1996, 53-644.
- [7] Liao A P, Lei Y, Yuan S F. The matrix nearness problem for symmetric matrices

associated with the matrix equation $[A^T X A, B^T X B] = [C, D]$. Linear Algebra and Its Applications,

* Corresponding author:

137

Email address: ccsujr@163.com (Jinrong Shen)

Research Supported by the Scientific Research of Hunan Provincial Education Department ,(Grant No. 20C0178)

2006, 418: 939-954.

- [8] Zhang S B, Deng Y. Reflexive solutions and antireflexive solutions of matrix equation $AXB + CYD = E$. Journal of Northeast Normal University (Natural Science Edition). 2022, 54(02):1-4.
- [9] Ma Y, Huang X F. The solution of inverse Hermite matrix equation. University Mathematics. 2022,38(04):121-124.